

# Sum of the Summations of Binomial Expansions with Geometric Series

Chinnaraji Annamalai

School of Management, Indian Institute of Technology, Kharagpur, India

Email: [anna@iitkgp.ac.in](mailto:anna@iitkgp.ac.in)

<https://orcid.org/0000-0002-0992-2584>

**Abstract:** This paper presents a theorem on binomial coefficients. This theorem states that sum of the summations of binomial expansions is equal to the sum of a geometric series with the exponents of two.

**MSC Classification codes:** 05A10, 40A05 (65B10)

**Keywords:** binomial coefficient, geometric series, summation

## 1. Introduction

Combinatorics consisting of both combination and permutation plays a vital role in computing, computational science, and management. The computational science is a rapidly growing interdisciplinary area where combinatorics, science, engineering, mathematics, computation, and collaboration use advance computing capabilities to meet today's challenges and solve the most complex real life problems.

The factorial or factorial function of a nonnegative integer  $n$ , denoted by  $n!$ , is the product of all positive integers less than or equal to  $n$ .

Let  $N = \{0, 1, 2, 3, \dots\}$  be the set of natural numbers including zero element.

The binomial coefficient denotes that  $\binom{n}{r} = \frac{n!}{r!(n-r)!}$ , where  $n, r \in N$ .

## 2. Binomial Theorem

Theorem:  $\sum_{i=0}^0 \binom{0}{i} + \sum_{i=0}^1 \binom{1}{i} + \sum_{i=0}^2 \binom{2}{i} + \sum_{i=0}^3 \binom{3}{i} + \dots + \sum_{i=0}^n \binom{n}{i} = 2^{n+1} - 1$ .

The binomial theorem states that sum of the summations of binomial expansions is equal to the sum of a geometric series with exponents of two [1-3].

Proof.  $\binom{0}{0} = \frac{0!}{0!} = 1 \Rightarrow \sum_{i=0}^0 \binom{0}{i} = 2^0$ ;  $\sum_{i=0}^1 \binom{1}{i} = \binom{1}{0} + \binom{1}{1} = 1 + 1 = 2^1$ ;

$\sum_{i=0}^2 \binom{2}{i} = \binom{2}{0} + \binom{2}{1} + \binom{2}{2} = 1 + 2 + 1 = 2^2$ ;  $\sum_{i=0}^3 \binom{3}{i} = \binom{3}{0} + \binom{3}{1} + \binom{3}{2} + \binom{3}{3} = 2^3$ ; ...;

Similarly, we can continue this process upto  $n$  such that  $\sum_{i=0}^n \binom{n}{i} = 2^n$ .

When making the summation on both sides, we get

$$\sum_{i=0}^0 \binom{0}{i} + \sum_{i=0}^1 \binom{1}{i} + \sum_{i=0}^2 \binom{2}{i} + \sum_{i=0}^3 \binom{3}{i} + \cdots + \sum_{i=0}^n \binom{n}{i} = \sum_{i=0}^n 2^i,$$

where  $\sum_{i=0}^n 2^i = \frac{2^{n+1} - 1}{2 - 1} = 2^{n+1} - 1$  is the geometric series with exponents of two [1,2].

$$\therefore \sum_{i=0}^0 \binom{0}{i} + \sum_{i=0}^1 \binom{1}{i} + \sum_{i=0}^2 \binom{2}{i} + \sum_{i=0}^3 \binom{3}{i} + \cdots + \sum_{i=0}^n \binom{n}{i} = 2^{n+1} - 1.$$

Hence, theorem is proved.

Lemma:  $\sum_{i=0}^k \binom{k}{i} + \sum_{i=0}^{k+1} \binom{k+1}{i} + \sum_{i=0}^{k+2} \binom{k+2}{i} + \sum_{i=0}^{k+3} \binom{k+3}{i} + \cdots + \sum_{i=0}^n \binom{n}{i} = 2^{n+1} - 2^k,$

where  $k \leq n$  &  $k, n \in N$ .

Proof: The sum of a geometric series with exponents of 2 is given below:

$$\sum_{i=k}^n 2^i = 2^{n+1} - 2^k.$$

Then,  $\sum_{i=0}^k \binom{k}{i} + \sum_{i=0}^{k+1} \binom{k+1}{i} + \sum_{i=0}^{k+2} \binom{k+2}{i} + \cdots + \sum_{i=0}^n \binom{n}{i} = \sum_{i=k}^n 2^i.$

Therefore,  $\sum_{i=0}^k \binom{k}{i} + \sum_{i=0}^{k+1} \binom{k+1}{i} + \sum_{i=0}^{k+2} \binom{k+2}{i} + \cdots + \sum_{i=0}^n \binom{n}{i} = 2^{n+1} - 2^k.$

### 3. Conclusion

In this article, theorem and lemma on binomial expansions and geometric series have been built using binomial coefficients. These combinatorial results can be useful for researchers who are working in science, engineering, management, and medicine [4].

### References

- [1] Annamalai, C. (2009) A novel computational technique for the geometric progression of powers of two. *Journal of Scientific and Mathematical Research*, Vol.3, pp 16-17. <https://doi.org/10.5281/zenodo.6642923>.
- [2] Annamalai, C. (2019) Extension of ACM for Computing the Geometric Progression. *Journal of Advances in Mathematics and Computer Science*, Vol. 31(5), pp 1-3. <https://doi.org/10.9734/JAMCS/2019/v31i530125>.
- [3] Annamalai, C. (2009) A Binomial Expansion equal to Multiple of 2 with Non-Negative Exponents. SSRN 4116671. <http://dx.doi.org/10.2139/ssrn.4116671>.
- [4] Annamalai, C. (2010) Application of Exponential Decay and Geometric Series in Effective Medicine. *Advances in Bioscience and Biotechnology*, Vol. 1(1), pp 51-54. <https://doi.org/10.4236/abb.2010.11008>.